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Higher Secondary First and Second year Examination

.......................

ENGLISH - QUESTION PAPER PATTERN C

.......................

Time Allowed: 2.30 hours Maximum Marks : 90
Part-1

Choose the correct answer for each of the following from the options given:
20x1=20)

Q. No. 1 = 3 (Synonyms)
Q. No. 4 - 6 (Antonyms)
Q. No. 7 - 20 (Topics for testing)

Compound Words (formation combining two lexemes)
Prefixes and suffixes (2)

Abbreviations and Acronyms

Clipped Words (2)

Definitions of Words

Phrasal Verbs (substitute with single words and vice versa) (2)
Common Idioms

Confusables

Foreign Words and Phrases

Substitute words/phrases with polite alternatives

(Eg. Housewife — Homemaker)

Modal Verbs and Semi-modals

Prepositions

Question Tags

VVVVVVVYVVYY

Y V VY

(Topics for testing - learnt in lower classes)

 Syllabification (finding number of syllables)
e American English and British English

e Singular and Plural

» Sentence Patterns

Part - Il

Answer any seven of the following: (7x2=14)

(i) Q. No. 21 —-26 (Answer any four out of six)

Read the given sets of poetic lines and answer the questions that follow:

» Poetry Appreciation / Figures of Speech



(i) Q. No. 27 — 30 (Answer any three out of four)

Do as Directed: (Grammar topics to be tested under Transformation and Synthesis)

» Direct and Indirect Speech

» Active — Passive Voice

> Simple, Compound and Complex sentences
» Conditional Clauses

Part - II1

Answer any seven of the following: (7x3=21)

(i) Explain any two of the following with Reference to the Context:
(any two out of three)

Q. No. 31 — 33 (Poetry)

(i) Answer any two of the following questions briefly: (any two out of three)

Q. No. 34 — 36 (Prose short answer questions)
(iii) Answer any three of the following: (any three out of four)
Q. No. 37 — 40 (Topics for testing)

> Dialogue Writing of minimum three exchanges (completion / Fill in
the blanks)

Verbal and Non — verbal Representation (tables, pie-charts, graphs,
maps — asking questions or analytical interpretation of data)
Describing a Process

Completion of Proverbs / Match with meanings / Semantic Fields
Notice Writing

Expansion of Headlines

E-mail Writing

Spot the Errors / Fill in the blanks — Homophones, link words,
concord, Framing questions, words with different grammatical
functions, tenses, determiners, prepositions

» Rearrange the words and phrases to make meaningful sentences.

A\

YVVVYVYVYY



Part - IV

Answer the following: (7x5=35)

YV VY

Y VY

Q. No. 41 — 47 [Either/Or Questions] (Topics for testing)

Paragraph Questions from Prose

Paragraph Questions from Poetry

Paragraph Questions from Supplementary Reader

Note-making / Summarizing / Writing Biographical sketch from the
given information / Writing a report using information given

Prose Comprehension / Poetry Comprehension

Letter-writing (personal/official/job application with Bio-data) /
Paragraph writing on a general topic / Expansion of Proverbs /
Report Writing /

Construction of dialogues for the given situation / Developing hints
into a story — unknown

K 3K 3K K Xk kK K kK 5k k k
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Time Allowed: 2.30 hours Maximum Marks : 90
uGH — 1/ Part — |
Choose the most suitable answer from the given fowlternatives and write the
option code and the corresponding answer 20x1=20
Q.No. 1to 20

(Questions, Match the following, Fill in the blank3hoose the odd man out, Choose the
incorrect/Correct pair, Assertion-Reason, Chdbsecorrect or incorrect statements)

ugH — 11/ Part — 1
Answer any seven questions. Question No. 30 is Cdésopy 7x2=14
Q.No. 21to 30
ugds — Il / Part — 111
Answer any seven questions. Question No. 40 is atsapy 7x3=21
Q.No. 31to 40
uGgs — IV / Part — IV
Answer all the questiorn(&ither-or questions) 7x5=35

Q.No. 41 to 47
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Time Allowed: 2.30 hours Maximum Marks : 70
uGH — 1/ Part — |
Choose the most suitable answer from the given fowlternatives and write the
option code and the corresponding answer 15x1=15
Q.No. 1to 15

(Questions, Match the following, Fill in the blank3hoose the odd man out, Choose the
incorrect/Correct pair, Assertion-Reason, Chahsecorrect or incorrect statements)

ugH — 11/ Part — 1
Answer any six questions. Question No. 24 is cosgyl 6x2=12
Q.No. 16 to 24
ugs — Il / Part — 111
Answer any six questions. Question No. 33 is cosgyl 6x3=18
Q.No. 25to 33
uGs — IV / Part — IV
Answer all the question(&ither-or questions) 5x5=25

Q.No. 34 to 38
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Time Allowed: 2.30 hours Maximum Marks : 70

(Bio-Botany — 35 Marks)

ugsH — 1/ Part — |
Choose the most suitable answer from the given foalternatives and write the
option code and the corresponding answer 8x1=8
Q.No. 1to 8

(Questions, Match the following, Fill in the blank3hoose the odd man out, Choose the
incorrect/Correct pair, Assertion-Reason, Chdbsecorrect or incorrect statements)

ugH — 11/ Part — 1
Answer any four questions 4x2=8
Q.No.9to 14
ugs — Il / Part — 111
Answer any three questions. Question No. 19 is ciosopy 3x3=9
Q.No. 15t0 19

ugs — IV / Part — IV

Answer all the question(&ither-or questions) 2x5=10
Q.No. 20 and 21

(Bio-Zoology—35 Marks)

ugsH — 1/ Part — |
Choose the most suitable answer from the given fowlternatives and write the
option code and the corresponding answer 8x1=8

Q.No. 1to 8
(Questions, Match the following, Fill in the blank3hoose the odd man out, Choose the
incorrect/Correct pair, Assertion-Reason, Chahsecorrect or incorrect statements)

ugs — Il / Part — I
Answer any four questions 4x2=8
Q.No.9to 14
ugs — Il / Part — 111
Answer any three questions. Question No. 19 is cisopy 3x3=9
Q.No. 15t0 19
ugd — IV / Part — IV
Answer all the questiorn(&ither-or questions) 2x5=10

Q.No. 20 and 21
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Time Allowed: 2.30 hours Maximum Marks : 90
ugsH — 1/ Part — |
Choose the most suitable answer from the given fowlternatives and write the
option code and the corresponding answer 15x1=15
Q.No. 1to 15

(Questions, Match the following, Fill in the blank3hoose the odd man out, Choose the
incorrect/Correct pair, Assertion-Reason, Chdbsecorrect or incorrect statements)

ugs — Il / Part — I
Answer any ten questions. Question No. 28 is cosquyl 10x3=30
Q.No. 16 to 28
ugs — Il / Part — 111
Answer any five questions. Question No. 35 is cosgny 5x5=25
Q.No. 29to 35
uGs — IV / Part — IV
Answer all the questions (Either-or question) 2x10=20

Q.No. 36 to 37



